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Mon 10th 
N-S
1st
Guttorm & Hans V
62%
2nd
Dave C & Gus
59%

E-W
1st
Jean-Ckaude & Michel
58%
2nd
Gerard & Derek
56%

Wed 12th 
N-S
1st
Risto & Bjards
61%
2nd
Kenneth & Tomas
57%

E-W
1st
Lars F & Arne
56%
2nd
Linda & Gus
55%

Fri 14th 
N-S
1st
Jean W & Lars B
60%
2nd
Bob P & Robbie
57%

E-W
1st
Dave C & Tomas
61%
2nd
Arne F & Lars F
60%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A partner opens 1♥ and RHO overcalls 1♠, 


what do you bid?

♠ 8
♠ A98432
♥ QJ97
♥ KQ6
With Hand B you bid 4♠ over partner’s double, but what do 
♦ KQJ63
♦ J752
you respond to partner’s subsequent 4NT RKCB bid: -
♣ K72
♣ -
3♣
dbl
pass
4♠
pass
4NT
pass
?
Dave’s  Column

Here is Dave’s 1st problem this week, on defence.


North



Book Bidding
Dealer:
♠ 97

West

North
East

South
North
♥ AK864

-


1♥

1♠

2♠
(1)
N-S vul 
♦ A7


4♠

?
(2)

♣ A1043
You are North and partner’s 2♠ bid shows a sound raise to 3♥ or better. West ups the anti and makes life difficult, what do you bid?

 


Dave’s Column Answer




Board 21 from Wednesday 12th December 
Dealer:
♠ 97



Book Bidding (when first played)
North
♥ AK864

West

North
East

South(A)
N-S vul 
♦ A7

-


1♥

1♠

2♠
(1)

♣ A1043


4♠

?

♠ QJ63
N
♠ AK10542

Recommended Bidding
♥ 1032
W
E
♥ 5

West
North
East

South(A)
♦ 109
S
♦ 8542

-

1♥

1♠

3♠
(1)
♣ 9865


♣ QJ


4♠
6♥

all pass

♠ 8

 


♥ QJ97

♦ KQJ63

♣ K72

North is worried that there are two ♠ losers and so no slam. Doubling 4♠ is an option, but N-S are vulnerable and E-W are not. Doubling and getting a two or three trick set will be bad since N-S can surely make game.
What should North do? The answer is that’s it’s a guess and 5♥ seems the most prudent bet.
But the real solution to the problem is that North needs to know more about the South hand. You can see that South has a singleton ♠ and that slam is cold because there is only one ♠ loser.
This brings up the point of this article. If your partnership uses splinter bids then South can bid 3♠ instead of 2♠ at (1). If you play this as a splinter then it is game forcing with ♥ support and ♠ shortage.

And what happened at the Pattaya bridge club? Nobody bid the cold slam: 5♥+1 twice, 4♥+2 three times, 4♠*-2 twice, 4♠-2 and 3NT(N) -2.
Dave’s  2nd Column



Here is Dave’s 2nd problem this week.
West
East

West

North

East

South

♠ Q4
♠ AKJ1098

1♣

1♥

1♠

4♥
♥ 976
♥ -


pass

pass

6♠

all pass
♦ Q52
♦ A87
 

♣ AKQ32
♣ 10976

You are East, declarer in 6♠. South leads the ♥K, plan the play (♣’s split 3-1 with the ♣J appearing on the third round).

Dave’s 2nd Column Answer




Board 24 from Wednesday 12th December
Dealer:
♠ 73



Book Bidding
West
♥ AJ1083

West

North
East

South
Love all 
♦ K106

1♣


1♥

1♠

4♥

♣ J84


pass

pass

6♠

all pass
♠ Q4
N
♠ AKJ1098


♥ 976
W
E
♥ -


♦ Q52
S
♦ A87
 
Plan the play for 12 tricks.
♣ AKQ32


♣ 10976
 

♠ 652

 

♥ KQ542

 
♦ J943
 
 

♣ 5



South followed the Law of Total Tricks when he jumped to 4♥. He knew that his side had ten combined trumps, so he leapt to the 10-trick level.

The 6♠ bid is a fair speculation since you expect partner to have his goodies outside the ♥ suit.  And upon seeing dummy you seem to have 12 easy tricks, 6 ♠’s, one ♦ and five ♣’s.

After ruffing the ♥ and drawing trumps, you start the ♣’s. But when they break 3-1, hopefully you notice that the suit is blocked. To unblock them, call for a ♥ and discard a ♣! The slam is then safe.
Fortunately for you the ♥ lead is fairly obvious, after a ♦ lead, though… 

And what happened at the Pattaya bridge club? 6♣= twice, 4♠+2, 4♠+1 three times, 4♠= twice and 2♠+2.
Void responses to RKCB



Board 22 from Wednesday 12th December
Dealer:
♠ A98432





East
♥ KQ6

West

North(B)
East

South
E-W vul 
♦ J752

-

-

3♣

dbl

♣ -


pass
(1)
4♠

pass

4NT
pass


6♣
(2)
pass

6♠
♠ Q75

N
♠ -

all pass
♥ 953
W
E
♥ 1072


♦ 64
S

♦ 1093

♣ Q10862


♣ AKJ9754




♠ KJ106

 
♥ AJ84





♦ AKQ8



♣ 3






(1) Maybe West was put off of raising ♣’s by the vulnerability?
(2) What did you bid with this North hand B in this week’s quiz? If you play Eddie Kantar’s void responses to RKCB this shows one keycard and a ♣ void.
The opening bid made locating the ♠Q easy and 13 tricks are quite comfortable.

And what happened? 6♠ +1 five times, 5♠+2 and 4♠+2 three times.
The bottom lines:

· These void responses are as recommended by Eddie Kantar. When partner bids RKCB and you have a useful void and a hand interested in slam, the responses to 4NT are:
5NT



=
2 (or 0 or 4) keycards with a useful void.

6 of a suit below trumps
=
1(or 3) keycards with a void in the suit bid.

6 of the trump suit

=
1(or 3) keycards with a void in a suit above trumps.

· I note that three declarers made just 12 tricks, and this depends upon whether you play the ♠A or the ♠K first when drawing trumps. This only matters when there is a 3-0 trump split and this is often a complete guess. Here, however, East has shown seven ♣’s and it is more likely that West has any ♠ length. Since you can pick up Qxx in either hand it best to play the ♠K on the first round of trumps. 
Exclusion RKCB – RKCB with a void.

Board 22 from Wednesday 12th December
There were some great hands on Wednesday, and after the previous hand with a void response, the same N-S pair discussed Exclusion Blackwood (saying that it never comes up!). But a few boards later:
Dealer:
♠ A87





South
♥ -

West

North
East

South
E-W vul 
♦ AQ1083

-

-

-

1♠

♣ AK832


dbl
(1)
redbl(2)
2♥

2NT

3♥


5♥
(3)
pass

5♠
(4)
♠ Q

N
♠ 9432

pass


6♠

all pass
♥ AQ73
W
E
♥ 1098542


♦ 94
S

♦ J75

♣ Q109764


♣ -




♠ KJ1065

 
♥ KJ6





♦ K62



♣ J5
(1) I don’t like to double with this hand and prefer 2♣ because a 2♦ response will be very embarrassing. However there are people who always double “to promise four ♥’s”
(2) This is not ideal either as the redouble often implies no fit. A Jordan 2NT is possible but a 2♣/♦ bid is not as that is not forcing after a double.

(3) Exclusion RKCB, as the pair had moments earlier discussed! It asks for keycards outside the ♥ suit. Note that normal 4NT RKCB is a horrible bid here as a one keycard response could be the ♠K or the useless ♥A.
(4) One keycard outside the ♥ suit (playing 1430).

An opening lead of a ♣ (with the ♣A being ruffed) is annoying, but the slam can still make.
And what happened? 6♠= twice, 5NT+2, 4♥*-2, 5♠=, 4♠=, 6♠-1, 4♠-2 and 3♦-1.
The bottom lines:

Exclusion RKCB is explained on the website. Basically, when 4NT would be RKCB then a jump to a suit at the five level is exclusion – asking for keycards outside the suit bid, with the normal step responses.
Play Quiz


Board 5 from Wednesday 12th December
♠ 32

N


West

North
East

South
♥ AK108
W
E

-


3♣

3♠

pass

♦ K9875
S


4♠

all pass
♣ 43







♠ A987
You are South, defending 4♠. You lead the ♣2 and partner
♥ QJ965
wins with the ♣A and continues with the ♣K, Declarer

♦ 432
following with the ♣Q and ♣J. Partner leads a 3rd ♣ which
♣ 2
declarer ruffs with the ♠10, what do you do?
Play quiz Answer - Trump Promotion.

Board 5 from Wednesday 12th December
Dealer:
♠ 4





North
♥ 32

West

North
East

South
N-S  vul 
♦ J10

-

3♣

3♠

pass

♣ AK1098765

4♠

all pass
♠ 32

N
♠ KQJ1065


♥ AK108
W
E
♥ 74

You are South and lead the ♣2. Partner 
♦ K9875
S

♦ AQ6

wins with the ♣A and continues with the 
♣ 43


♣ QJ


♣K and a 3rd ♣ which declarer ruffs with

♠ A987

 
the ♠10, what do you do?
♥ QJ965





♦ 432
The answer is that you should not over-ruff but discard 

♣ 2
something. You then subsequently score two trump tricks as you have now A9xx over Declarer’s KQJxx. If you over-ruff then you only score the ♠A. Work it out!
And what happened? 4♠+1 twice, 4♠= four times, 3♠= twice and 4♠-1 once.
The bottom lines:

Understand trump promotion – it is not always wise to over-ruff.
Bidding Quiz Answers
Hand A:
3♠, a splinter agreeing ♠’s with ♥ support and game forcing. This is much more descriptive than 2♠ which would show a good ♥ raise but not show the ♠ shortage. 4♥ is a poor bid as it is generally played as weakish and there may well be slam (there was!).
Hand B:
If you have agreed to play Eddie Kantar’s void responses to RKCB, then bid 6♣ showing precisely the one keycard and a ♣ void. I believe that some players (Janne and some Swedes?) play the void responses the other way round (5NT to show an odd number keycards etc). I can see no significant advantage either way and so I adopt Eddie Kantar’s version as he is the world’s acknowledged expert on RKCB.
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